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Sample Exam 9

1. A publicly traded construction company reported that it just paid off a loan that it received 1 year earlier. If the total amount of money the company paid was $1.6 mil​lion and the interest rate on the loan was 12% per year, how much money had the company borrowed 1 year ago?

2. How much money will be accumulated in 10 years from a deposit of $20.000 now at an interest rate of 10% per year, com​pounded continuously?

3. A mechanical consulting company is examining its cash flow requirements for the next 7 years. The company expects to re​place office machines and computer equip​ment at various times over the 7-year plan​ning period. Specifically, the company expects to spend $6000 two years from now, $9000 three years from now, and $5000 six years from now. What is the present worth of the planned expenditures at an interest rate of I0% per year?

4. A high-technology product development company offers some of its employees stock options to keep them from "jumping ship." One particular engineer will get options on 500 shares of the company's stock each year, but he can't exercise any of them until he has worked there for 5 years. If the stock currently sells for $30 per share and it increases in value by 15% each year, what is the present worth of 5 years' options at a rate of return of 10% per year?

5. In attempting to obtain a swing loan from a local bank, a general contractor was asked to provide an estimate of annual ex​penses. One component of the expenses is shown in the cash flow diagram below. Convert the amounts shown to an equiva​lent uniform annual amount, using an in​terest rate of 12% per year.

[image: image1.png]
6. If a title company has an escrow account containing $20,000, determine how long it will take to deplete the account if the com​pany starts withdrawing money 1 year from now according to the following plan: $5000 the first year, $4500 the second year, $4000 the next, and amounts de​creasing by $500 per year until the account is depleted. Assume that the ac​count earns interest at a rate of 8% per year.

7. For the cash flows below, find the value of x that makes the equivalent annual worth in years 1 through 9 equal to $2000 at an interest rate of 12% per year.

	Year
	Cash Flow, $
	Year
	Cash Flow, $

	0
	200
	5
	600

	1
	300
	6
	700

	2
	400
	7
	800

	3
	x
	8
	900

	4
	500
	9
	1000
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